e Um egstricted Reo ndom 'ﬂl’l}}_).ll'.'l._ng_

Menby seampling wnits are selected ab random (using Tippebt's
Random Sawpling Numbers), The celculations are given belows

Observed counts

e et bt e

2
b 4 X = 100 n= 20
12 1l 20
55 3025 (x)8(y) = 90k
16 256
13 169 ‘ _ 90l
31 961 y = 20 = 15.2-
20 81.00 '
31 961 20 2
62 304L (st)S8 * S (y-y)
87 7569
59 3h81. 20 20
o8 78, = 8(y?) -¥% S(y)
30 990 ] ’-}‘ oY
16 2116 = 53050 = 15,2 (98))
he 1760 L = 53050 - L8608
29 8L 3 = 12189.2
29 81611
a7 7569 Y = SS
35’ 1225 .-JI.EY..)_ (;7,
8l 7086
38 & N 1..2_"_%33.__
9011- EBO.)O Yarmse e b__[_.'_];_!_s_)l_
v(y) 1
v(y)=Tn h1.31' = 32,08 - ' !
e
V(y) cormcted for finite population = 32,08 (11 )
1.00=20

32,08 (7100 )

I

= 32,00 (J8) = 25,66

Si(Y) corrected = VV(§) correctod =V 25,66 = 4.l
sl

UL

Se: vy = 5.2 @
and, as this is the mean count per sampling unit and there are 100 such
sempling units, the estimated total is:

100 (U542 + 5,1) = 1520 + 510 Cdds 2:]

The odds are 19:1 that the true value lies within the range 1520 + 510 Q,Q
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Sanpling errors,



